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#include "stdafx.h"

#include <stdlib.h>

#include <stdio.h>

#include <iostream>

using namespace std;

char XY[3][3] = {{'1", '2", '3"}, {'4", '5', '6"}, {'7", '8", '9'}};

void show()//Hi FH

{
int 1, j;
for (i =0; 1 <3; i+) {
for (j =05 j <3; j+)
cout << XY[1][j] << " "
cout << endl;
}
}
void judge()//fﬂﬁéﬁﬁﬁqj ﬁ?ﬁf?ﬂﬁ?
{

int position;
cout << ”}ZEE?%:‘#ET“ "

cin >> position;

if (position < 1 || position > 9)

cout << ”ﬁﬁ"é,?&ﬁ << endl;

else {
int x = (position-1)/3, y = (position-1)%3;
if (XY[xI[y] == 'o" Il XY[x][y] = "x"){
cout << "Eff 07, TRIFE!" << endl;
Judge();
}
else XY[x][y]l="x";

}

show();



cout<<”Ei?$%§ﬁﬁ“ "<<endl;
}
void reset()
{
int 1, j, ch="1";
for (1 =0; 1 <3; i+)
for (j =05 j <35 j++)
XY[1][j] = ch + i*3 + j;

int _tmain(int argc, _TCHAR* argv[])
{

//int select;
cout << ”?#ﬁ%ﬁ%ﬂlﬁk”<< endl;
/11, 514[2{4_%}3& << endl;
/lcout << "BV SEFE fLo, BT S FLx" << endl;
show();
//cout << ”Fjﬁﬂﬁl?ﬁﬂ;k 2
//cin >> select;
/11t (select=1){
char Q;
Q="0";
cout << ”ﬁ“%%ﬁ%ﬁlﬁﬁ‘ : "<< endl;
XY[1I[11=0;
show();
judge();
1 HINE
HEXY[1][1]=="0"& XY[O][1]=="x"){
XY[2][0]="0";
show();
judge();
1f(XY[2][0]=="0" && XY[1][1]=="0" && XY[O][2]="x"){



judge();
TTXY[2][1]=="x" |l XY[1][2]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[O]J[0]="0" && XY[1][1]="0" && XY[2][2]="x"){
XY[1][0]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[2][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
}
else{
XY[0][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
1 LIRfE
else 1f(XY[1][1]="0"&& XY[1][2]="x"){
XY[2][0]="0
show();
judge();
1f(XY[2][0]=="0" && XY[1][1]=="0" && XY[O][2]="x"){
XY[2][2]="0
show();
judge();
HEXY[TI[0]=="x" Il XY[O][1]=="x"){
XY[0][0]="0
show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;



else if(XY[O][0]="x" && XY[1][1]="o" && XY[2][2]=="0"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
else {

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}

system("pause");

)
I

else if(XY[1][1]="0"&& XY[2][1]=="x"){

show();
judge();
IT(XY[2][0]=="0" && XY[1][1]="0" && XY[O][2]="x"){

show();
judge();
TTXY[O][1]=="x" Il XY[1][2]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}

else 1f(XY[O][0]="0" && XY[1][1]="0" && XY[2][2]="x"){
XY[1][0]="0
show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;



else {

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
}
else{
XY[0][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}

system("pause");

)
I

else if(XY[1][1]="0"&& XY[1][0]=="x"){

show();
judge();
1T(XY[2][0]=="0" && XY[1][1]="0" && XY[O][2]="x"){

show();
judge();
TEXY[O][1]=="x" Il XY[1][2]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[O][0]="x" && XY[1][1]="0" && XY[2][2]="0"){
XY[2][1]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[0][0]="0
show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;



show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
=

else if(XY[1][1]="0"&& XY[O][2]=="x"){

show();

judge();

//staicOl

1f(XY[2][0]=="0" && XY[1][1]=="0" && XY[O][1]="x"){

show();
judge();
TTXY[2][1]=="x" |l XY[1][2]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[O][0]="0" && XY[1][1]="0" && XY[2][2]="x"){
XY[1][0]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[2][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic02

else if(XY[2][0]="0" && XY[1][1]="o" && XY[O][O]="x"){



show();
judge();
IT(XY[O][1]=="0" && XY[1][1]="0" && XY[2][1]="x"){

show();
judge();
ITXY[1][0]=="x" && XY[1][1]="0" && XY[1][2]='0"){

show();

cout<<"E€=H T = 1 "<<end] ;

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic03
else 1f(XY[2][0]="0" && XY[1][1]="0" && XY[1][0]="x"){

show();
judge();
TTXY[O][1]=="x" Il XY[1][2]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}

else 1f(XY[O][0]="x" && XY[1][1]="0" && XY[2][2]="0"){
XY[2][1]='0
show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;



}

else {

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
system("pause");
}
//staic04
else 1f(XY[2][0]="0" && XY[1][1]="0" && XY[2][1]="x"){
XY[0][0]="0
show();
judge();
HEXY[OI[1]=="x" I XY[1][2]=="x"){
XY[2][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else 1f(XY[O][0]="0" && XY[1][1]="0" && XY[2][2]="x"){
XY[1][0]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[2][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic05
else 1f(XY[2][0]="0" && XY[1][1]="0" && XY[2][2]="x"){
XY[1][2]="0
show();
judge();
IfXY[1][0]="x" && XY[1][1]=="0" && XY[1][2]=="0"){
XY[0][1]="0



judge();
IT(XY[O][1]=="0" && XY[1][1]="0" && XY[2][1]="x"){

show();

cout<<"E€=H T = 1 "<<end] ;

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
system("pause");
}
//staic06
else 1f(XY[2][0]="0" && XY[1][1]="0" && XY[1][2]=="x"){

show();
judge();
TEXY[O][1]=="x" Il XY[1][O0]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}

else 1f(XY[O][0]="x" && XY[1][1]="0" && XY[2][2]="0"){
XY[2][1]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}

else {

show();



cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
system("pause");
}
1 LIRfE
else 1f(XY[1][1]="0"&& XY[2][2]="x"){

show();

judge();

//staicOl

1f(XY[0][0]=="0" && XY[1][1]=="0" && XY[1][2]="x"){

show();
judge();
TEXY[1][0]=="x" |l XY[2][1]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[O][0]="0" && XY[O][1]="x" && XY[O][2]="0"){
XY[2][0]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[0][1]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic02

else if(XY[O][0]="0" && XY[1][1]="o" && XY[O][2]="x"){

show();
judge();
ITXY[1][0]=="x" && XY[1][1]="0" && XY[1][2]='0"){



show();
judge();
IT(XY[O][1]=="0" && XY[1][1]="0" && XY[2][1]="x"){

show();

cout<<"E€=H T = 1 "<<end] ;

}
else{
XY[2][1]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
}
else {
XY[1][0]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic03

else if(XY[O][0]="0" && XY[1][1]="o" && XY[O][1]="x"){

show();
judge();
TTXY[1][2]=="x" |l XY[2][1]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}

else 1f(XY[O][0]="0" && XY[1][0]="x" && XY[2][0]="0"){
XY[0][2]="0
show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;



show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic04
else 1f(XY[O][0]="0" && XY[1][1]="0" && XY[1][0]="x"){

show();
judge();
TTXY[2][1]=="x" |l XY[1][2]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[O][0]="0" && XY[O][1]="x" && XY[O][2]="0"){
XY[2][0]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[0][1]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic05

else if(XY[O][0]="o0" && XY[1][1]="o" && XY[2][0]="x"){

show();
judge();
ITXY[O][1]=="x" && XY[1][1]="0" && XY[2][1]='0"){

show();
judge();
IT(XY[1][0]=="0" && XY[1][1]="0" && XY[1][2]="x"){



show();

cout<<"E€=H T = 1 "<<end] ;

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}

else {

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
system("pause");
}
//staic06
else 1f(XY[O][0]="0" && XY[1][1]="0" && XY[2][1]="x"){
XY[2][0]="0";
show();
judge();
HEXY[OI[1]=="x" Il XY[1][2]=="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[0][0]="0" && XY[1][0]=="x" && XY[2][0]=="0"){
XY[0][2]="0";
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[1][0]="0";
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}



system("pause");
}
145

else if(XY[1][1]="0"&& XY[2][0]=="x"){

show();

judge();

//staicOl

IFXY[2][1]="x" && XY[1][1]=="0" && XY[O][2]=="0"){

show();
judge();
TTXY[O][1]=="x" Il XY[1][O0]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[O][2]="0" && XY[1][2]="x" && XY[2][2]="0"){
XY[0][0]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[1][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic02

else i1f(XY[2][2]="x" && XY[1][1]="o" && XY[O][2]=="0"){

show();
judge();
ITXY[O][1]=="x" && XY[1][1]="0" && XY[2][1]='0"){

show();

judge();



show();

cout<<"E€=H T = 1 "<<end] ;

}
else{
XY[1][0]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
}
else {
XY[0][1]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic03

else if(XY[1][2]="x" && XY[1][1]="o" && XY[O][2]=="0"){

show();
judge();
TTXY[2][1]=="x" |l XY[1][O0]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}

else 1f(XY[O][0]="0" && XY[O][1]="x" && XY[O][2]="0"){
XY[2][2]='0
show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}

else {
XY[0][1]="0
show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;



system("pause");
}
//staic04
else 1f(XY[OI[1]="x" && XY[1][1]="0" && XY[O0][2]=="0"){

show();
judge();
TTXY[2][1]=="x" Il XY[1][O0]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[O][2]="0" && XY[1][2]="x" && XY[2][2]="0"){
XY[0][0]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[1][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic05
else 1f(XY[O][0]="x" && XY[1][1]="0" && XY[O][2]="0"){
XY[1][0]="0
show();
judge();
1If(XY[1][0]=="0" && XY[1][1]=="0" && XY[1][2]="x"){
XY[0][1]="0
show();
judge();
1f(XY[O][1]=="0" && XY[1][1]=="0" && XY[2][1]="x"){
XY[2][2]="0
show();

cout<<"E€=H T = 1 "<<end] ;



show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}

else {

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
system("pause");
}
//staic06
else 1f(XY[1][0]="x" && XY[1][1]="0" && XY[0][2]=="0"){

show();
judge();
TTXY[2][1]=="x" |l XY[1][2]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[0][0]="0" && XY[O][1]=="x" && XY[0][2]=="0"){
XY[2][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[0][1]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}

}
system("pause");
}

I



else if(XY[1][1]="0"&& XY[O][0]=="x"){

show();

judge();

//staic0l

If(XY[1][0]="x" && XY[1][1]=="0" && XY[2][2]=="0"){

show();
judge();
TEXY[O][1]=="x" Il XY[1][2]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[2][0]="0" && XY[1][1]="0" && XY[O][2]="x"){
XY[2][1]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[0][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic02

else i1f(XY[2][0]="x" && XY[1][1]="o" && XY[2][2]=="0"){

show();
judge();
IT(XY[1][0]=="0" && XY[1][1]="0" && XY[1][2]="x"){

show();
judge();
ITXY[O][1]=="x" && XY[1][1]="0" && XY[2][1]='0"){



cout<<"E=H T = 1 "<<end] ;

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}

else {

show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic03
else 1f(XY[2][1]="x" && XY[1][1]="0" && XY[2][2]="0"){
XY[0][2]="0";
show();
judge();
HEXY[OI[1]=="x" I XY[1][0]=="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
else 1f(XY[0O][2]="0" && XY[1][1]="o" && XY[2][0]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
else {

show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic04



else if(XY[1][2]="x" && XY[1][1]="o" && XY[2][2]=="0"){

show();
judge();
TTXY[O][1]=="x" Il XY[1][O0]=="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[O][2]="x" && XY[1][1]="0" && XY[2][0]="0"){
XY[2][1]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[0][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic05
else 1f(XY[O][2]="x" && XY[1][1]="0" && XY[2][2]="0"){
XY[0][1]="0
show();
judge();
1f(XY[O][1]=="0" && XY[1][1]=="0" && XY[2][1]="x"){
XY[1][2]="0
show();
judge();
If(XY[1][0]="x" && XY[1][1]=="0" && XY[1][2]=="0"){
XY[2][0]="0
show();

cout<<"E€=H T = 1 "<<end] ;

system("pause");



11}

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
}
else {
XY[2][1]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
system("pause");
}
//staic06

else if(XY[O][1]="x" && XY[1][1]="o" && XY[2][2]=="0"){

show();
judge();
TTXY[2][1]=="x" |l XY[1][O0]="x"){

show();

cout<<”%%ﬁ§’%ﬁ%!!”<<end1;

}
else 1f(XY[2][0]="x" && XY[1][1]="0" && XY[O][2]="0"){
XY[1][2]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}
else {
XY[2][0]="0
show();
cout<<”%%ﬁ§’%ﬁ%!!”<<end1;
}

}

system("pause");



/* else{
cout << "Hl%%:’itﬁﬁa?“ . "<< endl;
cout<<"% #LE‘/F%‘;% %’f(ﬁ%ﬁﬁfﬁ "<<endl;
system("pause");
return 0;

Y/



